Kopnyc C: cekuun 2, 3

Cekuuna 2

Cekuuna 3
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359 m? 42,7 m? 96,7 m?

C-075 C-074 C-073
NoT Mnowaab, KB.M
C-020 95,4
C-073 96,7
C-074 42,7 Cryous 1cnanesHa
C-076 101,5

4 cnanbHW 5 cnaneH
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3 cnansH®n

42,4 m?
Cc-018

47 w?
Cc-017
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Kopnyc C: cekuun 2, 3

Cekuunga 2

Cekuuna 3
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NoT Mnowaab, KB.M
C-026 88,4
C-029 41,6
C-030 95,4
Cryawvs 1cnanesHa
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C-082 42,7
C-083 41,4
C-084 137
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Kopnyc C: cekuun 2, 3

Cekuyuna 2

Cexkuuga 3
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C-095 C-094 C-093
Not Mnowapgb, KB.M
C-041 110,3
C-045 95,4
C-093 96,7 Cryous 1cnaneH|
C-096 1441
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Kopnyc C: cekuun 2, 3

Cekuyunga 2

Cekuuga 3
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